C:# Multiplying Unit Fractions with Numberline Name:

Use the numberline to solve. Answers
1) 0 1
%x5: 4: —tt—t—t+—+—+—t—+—+—+—+—+—+— 1
2.
2) 0 1
Ix—= 1} l l l => 3
4.
3) L 0 1 2 3 4 5
8x§: 4———t+—+—+—+—+ { — { ——— 5
6.
4) 0 1
1 | | | | | | | | ] ] | ] ]
— = < 1 1 1 1 1 1 1 1 1 1 » 7
3 10 ]
8.
5) 0 1 2 3
%6: 4—tF—+—+—+—+h o
10.
6) 0 1
1 | | | | | | | | | | |
_ < | | | | | | | | | >
9 10 |
7) 0 1 2 3 4 5
x7= ¢
8) 0 1
1 | | | | | | | | | ] | ] ] ]
_— < | | | | | | | | I I I I>
4 10 I
9) 0 1
1_10x2= 4+——————t——+—+—+
10) 0 1 2
%xgz 4+————————+—+—t—+—+—h
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C:# Multiplying Unit Fractions with Numberline Name:

Use the numberlineto solve. Answers
11/5 12/4 9/10 4710
1
2/10 5/8 3/10 22/3
7, 27, 2
1) 0 1
i>< - 4+ >
4,
2) 0 1
3x%: < I I : b 5
6.
3) 0 1 2 3 4 5
A ettt ;
4) 0 1 >
1_ ] | | | | | | | | | ] | |
3XE_ 1 1 1 1 1 1 1 1 1 1 » 9
5) 0 1 2 3 10.
Fx6=  4————————t+—+—+—P
6) 0 1
1 | | | | | | | | | | |
—_—= < | | | | | | | | | >
9 10 1
7) 0 1 2 3 4 5
x7= ¢
8) 0 1
1 | | | | | | | | | | | | | |
—= < | | | | | | | | | | | I>
4 10 I
9) 0 1
1 | | | | | | | | | | | | | | |
e = < | | | | | | | | | | | | I>
1O><2 I
10) 0 1 2
le6- 4+—+——+—+—+++—+—+—++F++++n
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